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2| KIGe BHEINRWIE | R TR AW A SR AR PR SR PR SRR
3[IRIT LK NFDLE W) 0.003mg/1LL <0.0002

AKX OZEDILED 0.0005mg/1LL <0.00005

5[ B R OZEDILEY) 0.01mg/ILLF <0.001

6|80 K O DILED 0.0lmg/ILLF <0.001

TEZ L OZFDILEW 0.01mg/1ILL T <0.001

RN Y] 0.02mg/1LL <0.001

9| HAHFEIEEHR 0.04mg/ICL T <0.004

10T A AT B OSRAbS 7 0.01mg/ILL T <0.001 <0.001 <0.001

11| AEfRRE 2 8 L ONAS R RE 2= 7 10mg/ILLF 0.79

127X OEDILED 0.8mg/ILLF 0.08

1B3|ARUFE M ZDOILEY 1.0mg/ILA T <0.1

IR AES 0.002mg/ILL F <0.0001

15[1,4-F %% 0.05mg/ILL T <0.002

16| 2-1,2v oLy KON v A-1,2 7aaxFLy 10.04mg /124 T <0.0002

177 anaiiy 0.02mg/1LL F <0.0001

18|57 o 7aasL 0.01mg/1LLF <0.0001

19N ZaeFL 0.0Img/1LLF <0.0001
20~ B 0.01mg/1LLF <0.0001
21| = 0.6mg/ILLF <0.06 <0.06 <0.06
22| 7 afElg 0.02mg/1LL T <0.002 <0.002 <0.002
23 7aakL 0.06mg/1LL T 0.0010 0.0008 0.0006
24| 7 auliik 0.03mg/1LL F <0.002 <0.002 <0.002
BT EEIOaAS 0.1lmg/ILL T 0.0016 0.0012 0.0012
26| R E 0.0lmg/ILL T <0.001 <0.001 <0.001
27| o AF 0.1mg/1LA T 0.0043 0.0035 0.0032
RN PEEL A 0.03mg/ILL T <0.002 <0.002 <0.002
29| T uET rau AR 0.03mg/1LL T 0.0014 0.0011 0.0011
30| 7 TR L 0.09mg/1LL T 0.0003 0.0004 0.0003
31| HRAVETTER 0.08mg/1LL T <0.008 <0.008 <0.008
32|Hgn K OF DL EW) 1.0mg/ILA R <0.01
3B TAI=T L OF DL 0.2mg/ILL T <0.01
34| OE DL EW 0.3mg/ILL T <0.01
358N DL EW 1.0mg/ILL T <0.01
36| TN LK DZEDILEY 200mg/12L T 7.0
31|~ T OFDILE W 0.05mg/ILL T <0.001
38|k A4 200mg/1LL T 4.5 4.6 4.4 5.1 5.1 2.9 4.8 4.5 5.1 4.9
39| HNT T L TR L5 ) 300mg/I1LLF 40.0
S 500mg/1LL T 100 109 103
A1 [eAF o FmiEEA] 0.2mg/1LL F <0.02
2| F A 0.00001mg/1LL <0.000001
43[2-AF AT RV T — )L 0.00001mg/1LL <0.000001
A4 [FEA A TG TEA] 0.02mg/1LLF <0.005
457 = )— VIR 0.005mg/ICL <0.0005
416 A S (A REDO ) 3mg/1LL T <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
47 [pHfE 5.801 F8.6LL 7.4 7.4 7.4 7.5 7.5 7.7 7.4 7.4 7.4 7.6
48|15k BETRNIE
19| & HETRWIE
50|t S5ELT 1 1 1 A4 <1 <1 A4 A4 4 <1
51 E 2ELLT <0.05 <0.05 <0.05 <0.05 <0.05 <0.05]  <0.05 <0.05 <0.05 <0.05




